Algebra I Name
6-1: Solving Systenis by Graphing Date Class Period

Learning Target: Today you will be able to SOLVE SYSTEMS BY GRAPHING AND ANALYZE SPECIAL
SYSTEMS

Question/Main Ideas: | Notes:

Definition: System of | Twe or mere lUnear €quations with

Linear Equaticns :
the Same soluhon

Definition: Solution of J An\./ ordered Pa;.r. that malkes all oF Hre
a System of Linear ‘
Equations 1 eq ua Hons In a system True.

Exdtple 1: Checking a { s the given ordered pair a solution o the given system of linear equations?
Solution 16 a System

of Linear Equations | a. (3,5) : b. @1, -5)

] 3.:._3 -S-:'l"b
2X*Y=1 (5-)‘}'[‘ 2x + 3y =-13 -—S‘:_S—\/
x=-3y+1 3=-15+l| ¥ =x~H

4 T - a - = -

| A(3)-5=| 3=-4 x (;):3(3*) 13 Yes

i o -15=-

[/ -8 = | lE -T3 (3
| =] v T3
Now It's Your Turn Is the given ordered pair a solution fo the given system of linear equa’ribns?
1.3) 3(-N+ae3)=3 -1=3¢32) -10
3x+2y=3 "3 +6=3 -l=9-16
xz=3y-10
3=3v “lz==lv

Yes

Steps to Solving a 1 G—rqP h 15T Line
System of Linear

e
crooa

Equations by Graphing ,
Graph and Line

Seluhon 15 where 'Hm:j intersecet




Example 2: Solving a | Use a graph to find the solution to the given system.
System of Equations '
by 6raphing yzx+2 p-
y=3x-~2 : /

(a,4) :

. 4
Now It's Your Turn Use a graph to find the solution to the given system..
>
y=2x+4 /
yzx+2

(-3,0) |

Example 3: Systems Use a graph to find the solution to the given system.

with Infinitely Many ,):j = x4+
Solutions or No a. 2y~x=2 \ l b. y=2x+2
: § =k
Solution y:%x+1 J=ox+d y=2x-~1
T T 1
SSREMAS / Parallel
-~
&
Yal m G
In'F\nl"‘CIj. n(j NO 50 luﬁor‘
Sclutions

Summary:




Algebra I Name
6-2: Solving Systems Using Substitution Date

Class Period

Learning Target: Today you will be able to SOLVE SYSTEMS OF EQUATIONS USING SUBSTITUTION

Question/Main Ideas: | Notes:

Example 1: Using Solve the system using the Substitution Method.

Substitution \
¥ = 33 > = =
4x + 2y = -30 (j 3( 3>

y=-q
Hx +Q(3x):—3o

Ax tex = -3¢0 (-3,-01)
WOx s-3g
=) e
X=-3

Now It's Your Turn Solve the system using the Substitution Method.

2><-y7' X=- (’3)"]
x=

= 3-1
al-4-1)-y=T1 = 3
"Q‘j'a"‘ﬂ:-l
"3y -a=1 (&,-—3)
-33:_q
g=-3

Example 2: Solving for | Solve the system using the Substitution Method.
a Variable and Using

Substitution 3y+4x =14 ‘j = 9(9-3) "3
| wegsd 7 y:=Qx-3] =Y.6-3

3(ax~3)+4x=1Y4 = ok
bx-9 +49x =1y (2.3,1.0)
IO x-9=1Y
lox =233
X=a.3




Now It's Your Turn Solve the system using the Substitution Method.

K=-3C-4.)-7
= 14.4-7

Steps to the 5o0lve ¥or o variable n one €7uaﬁ0ﬁ

Substitution Method ‘ : .
| Plug that equation inte the other equation

Solve +the equaton

Plug Yhot value Into an orig;‘ncxl equation

50\ve Yor the other variable

Write answer as ordered pair

Check Your answer

Examﬁle 3: Systems Solve the system using the Substitution Method.
with Infinitely Many

Solutions or No a. xz|-2y + 4 b. y =|3x - 11
Solution 3bx+7y=14 y-3x=-13

3.5(-93 +q) +7cj =1y

B 3x-1-3x=-13

-73 + 14 +-7tj =Y —'II::—|3
i"[:[l.(

Tnfinitely Mang it Salogriem
Selutons

Summary:




Algebra I

6-3: Solving Systems Using Elimination

Learning Target: Today you will be able to SOLVE SYSTEMS OF EQUATIONS BY ADDING TO ELIMINATE

\ VARIABLE

Name

Date Class Period

Question/Main Ideds:

Notes:

Key Idea to Selving
by Elimination

Add or subtract the eg9uatians in order o

Nelimnate" one of the variables

Example 1: Solving a
System by Adding

| Solve the system using the Elimination Method.

2x + By = 17 a(‘)+5‘j:l—l
+ 6x-5y=-9 PR (|'3>
.?_?—( =_§:. Sy-=-|
| ¥ ¥ J=15
i Xz | ':1:5

Now It's Your Turn.

Solve the system using the Elimination Method.

B ~%f = <32 5(3)—63=-33.
+3X+X’=48 10"6 =_3a
Fx =16 -6 a (2:7)
5 7 y=-Ha
X:=a 9=

What if the Variables
Don't Eliminate Just
by Adding?

Mul‘HPl\I one or both equa‘\'ions '\D:j a Number

1 Het will allew a variable 4o "diSQPpear"

Example 2: Solving a
System by Multiplyirig

One Equatian

| solve the system using the Elimination Method.

1 -2x + 15y = -32 -2(1)+15Yy=-32a
| 3 0x-ov=1) -a+isy=-3a
21X ~\S =8 ‘5‘3;_30
I1¥ ~2x%x * ==-3a i

| 'ax =19 J°

| Xz (1, -2)




Now It's Your Turn

Solve the system using the Elimination Method.

3{-5x-2y_=4) -5(~1.5) o NEL

+ -uf-ii?:,'f.a BT =y = Y
“lax =1y -9‘:‘:'35
2 -85 Y=11s

Example 3: Solving a
System by Multiplying
Both Equations

Solve the system using the Elimination Method.

-4 (3x+2y=1) 3x+a(-to0) = |

§ beGp=a) 3x ~20=|\

"R —Fy=-4 3x=al

X +94 =-6 X =7
4=-10

(71, -10)

Now It's Your Turn

Solve the system using the Elimination Method.

1(-4) +3y =-|9

2 (4x+3y=-19)

Pl el 16 43y = -|q
g x +6fj ==-3g
q ?nd =-3
A X —Gj z=-30
4=
ITx = -9
X=-4

(- 9, _|)

Summary:




Algebra I

6-4: Applications of Linear Systems

Name
Date

Class Period

Learning Target: Today you will be able to CHOOSE THE BEST METHOD FOR SOLVING A SYSTEM OF

LINEAR EQUATIONS

Question/Main Ideas:

Notes:

Concept: Choosing a
Method for Solving
Linear Systems

| Equations,

Graphing = When You want a visual di5pla‘j of¥ the
or when you want tv estimate.

| substitution - When one equation E Qlfead«j solved +or

one of its variables or when 1T is easy to do so

Elimination = When beth equations are wrten in +the

Same focm (i-e. standard 'F‘orm)

Concept: Finding a
Break-Even Point

Crea¥e an income equation ancd an expense
€quation. when these twe cquatons equal each
that 15 +he

other, break even point

Example 1: Finding a
Break-Even Point

Expenses: 4 = §.50x t1400

A fashion designer makes and sells hats, The material for each hat costs $5.50. The
hats sell for $12.50 each. The designer spends $1400 on advertising. How many hats

must the designer sell to break even?

Tncome: Yy=l1a.50x -5.50x ~5.50x

Tx=1400

F ao00 ha+]

Now It's Your Turn

| Thecome! Y = ax

A puzzle expert wrote a new Sudoku puzzle book. His initial costs are $864. Binding and
packaging each book costs $0.80. The price of the book is $2. How many copies must be

sold to break even?
ax = 0.80 x +86Y4
l.ax =8%cY

Expenses: Y =0.30x T86Y

X =120 books

Concept: Solving a
Mixture Problem

Use decimals 18 represent the percents.

will use all 3 percents.

One equa-Han

The other Cc:lua'ﬁm will equal the +otal




Example 2: Solving a
Mixture Problem

A dairy owner produces low-fat milk containing 1% fat and whole milk containing 3.5% fat.
How many gallons of each type should be combined to make 100 gal of milk that is 2%

fat?
" x+tj--loo — X =100-y .0\(100-3)‘\".0353:3

<0l X ¥+ 0. oasj = .oaaoo) l-.ouj t.035y =35
+ 01l X 1"0-0353 a2 . O&S(j;l

4O gal\ wheole, 6O gel low-—«Fa-{—-\ Y=4o

i

Now It's Your Turn

One antifreeze solution is 20% alcohol. Another antifreeze solution is 12% alcohol. How
many liters of each solution should be combined to make 15 liters of antifreeze solution

that is 18% alcohol? 0_9(15-_3) Malajza,']
ATY =18 —rx =I5y 3-0.34 +0.13y=2.7

0-ax +0.124 = .7 ~0.08y = - 0.3

[[2.75 £ of 127, 11.25 2 of 207.,) 4=2is

Concept: Solving a
Wind or Current
Problem

air Sptcd + wind SPEcd = 8round 5peed (wi-ﬂw uu;nd)
Qir speed — wind Speed= aroqnd speed (aaq;nﬁ- wind)
Con be applied to other moving objects(escalator).

Example 3: Solving a
Wind or Current
Problem

A traveler flies from Charlotte, North Carolina, to Los Angeles, California at a ground
speed of 495 mph. At the same time, another flier flies from Los Angeles to Charlotte at
a ground speed of 550 mph. The air speed of each plane is the same. What is the air
speed? What is the wind speed?

Qtw =550
+ A-w = 4as

—

air speed = §33.5 mph

wind speed = 27.5‘mph

aa = |oys
Qs 5$35.5

Now It's Your Turn

You row upstream at a speed of 2 mph. You travel the same distance downstream at a
speed of 5 mph. What would be your rowing speed in still water? What is the speed of
the current?

r+w=5 ﬁrow‘lnﬂ sPccd-'-' 3.5 mph
+r-w=a 5pe£d o¥ current = l-s'mph
ar = 1 '
r=3.5

Summary:




Algebra I

| 6-5: Linear Inequalities

Name
Date Class Period

_ Ledrning Target: Today you will be able to GRAPH LINEAR INEQUALITIES IN TWO VARIABLES

Question/Main Idéas: -

Notes:

Definition: Linéar
Inequality

1

An ineczualﬁ-vj with fwo variables.
Ex. Y ? X -3

Definition: Solutish of -

an Inequality

An ordered P"‘“r Hhat makes the
incclwl%'i‘j true.

Example 1:
Identifying Solutions

of a Linear Inequality

0 2) A& ”|-3 b. (-3,-7) “12-3-3

| Is the given ordered pair a solution of y > x - 3?

- =12-6 x

Yes

Now It's Your Turn

, 2
;la.Is(3,6)050Iu‘riqnofys%x+4? b < 3 (3)"'"‘

|

1 v < x + 10? Explain.

| L& aty
Yes Py
b. Suppose an ordered pair is not a solution of y > x + 10. Must it be a solution of

No, the Po'm'i‘ could cause
The '|ncctu,al;+|'e.s tv be

equal.

Steps to Graphing a
Linedr Inequality

; Grapk Yhe line as 1+ it was an equaton.

L > - solid line 2, & dashed line

] Pick a point -not on the ne - and plug it into
fhe original Mequality.

S'ha.dc above. or below The line based on
1 aabiads ha?f’"‘fd in step 3 - shade +rue side




Example 2: Graphing
an Inequality in Two
Variables

Graphy > x - 2.

Check (0,0)

076 =2 4
O>-2
. A
True — shade side /
Now It's Your Turn Graph y s% @l
Cheek (0,0) =
ki ot =i
0% 3 (o)t .
O£\
True- Shade side
with (0,0) v
Example 3: Graphing Graph the following.
an Inequality in One > means . Z means
Variables b.y:2 s\hade abesve

ax>-l shade right

A

Summary:




Algebra I
6-6: Systems of Linedr

~ Learning Target: Toddy

Ndme
Date

Inequalities Class Period

you will be able to SOLVE SYSTEMS OF LINEAR INEQUALITIES BY GRAPHING

Question/Main Ideas:

1"Notes: o

i E G, e EE

Linear Inequalitiés

Definition: Systéin of i Two or more

F Yhe same

Iinear ine Qu.ql;‘H es with

set of soluton points.

Definition: Solution of |
a System of Linear
Inequalities

| ‘\nequalities

r;' An ordered pair that 15 true for ALL

in a system.

Example 1:
Identifying Solutions

| Determine whether the ordered pair is a solution of the given system.

of a Systein of Linear e oo b, (-2,3) 3(-2)+5(3) > |
T it e
I l-0230) a(-2)+3(3)>a R
P 1z3Xx -4 49> 2 y
| ‘E 57av €S |
_.,.-

Now It's Your Turn

|

J iDe.'rer‘mine whether the ordered pair is a stlution of the given system.

(1, 4); d(+4723 -30)-Y£s es
2% +y >3 a+4?23 -3-4y &5 )
-3x -y <b iy &

6?3v 14£s5v

Steps to Graphing a
System Linear
Inequalities

Graph 5T \Iﬂtf-’tu.ah‘i':] (Shada with one co\of')

Graph and inecpa.o,t{"'j (shade wi

M different

color)

:.Solu."HOY'lrS are all Hhe P_oin-\'s
}in Hhe

located

ovcrlapp}na area.,




Example 2: Graphing

an Inequality in Two

Variables

Graph the given system. NTT ’I‘r
y <2x -3
2x+y>2 Y 7-aAx+2 \

I15T: Check (0,0) 2 : o P
O<«al(o)-3 ,"(

0«-3 |

a“d'. Cl’\ﬁCzlﬁ (010) u »’&f |

o) HO) > 2 /«
0> a

Check a Solution:
(4, -1)

~lea(y)-3 a(u) -1 >2
-| <« 5 Tz

Pu,rP le area

fe,P resents

all the
solutions

Noew It's Your Turn

Graph the given system.

d

/

yz-x+5

~3x+y<-4 Y € 3Ix-4

137 Check (0,0)

0Z -0+Ss

o &

and! Check (0,0)

“3(0)+0) £ -4 ¥
o0& -4
Check a Solution: (('l 3)
32 ~y4+s '3(%)4’3 £-4

3z -—9£-4

Summary:




